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QUESTION 1

What are two benefits of the Clos architecture? (Choose two.) 

A. improved fabric scalability 

B. complicated network design and implementation 

C. multiple nonblocking ECMP paths from all leafs 

D. limited fabric scalability 

Correct Answer: AC 

 

QUESTION 2

What unique feature does the Cisco AVS have? 

A. provides cross-consistency in features, management, and control through the Cisco APIC 

B. allows for integration to the VMware vCenter 

C. works as an edge device 

D. has APIs for both northbound and southbound integration 

Correct Answer: A 

 

QUESTION 3

The Cisco APIC REST API for Cisco APIC accepts and returns HTTP or HTTPS messages that contain which two types
of documents? (Choose two.) 

A. HTML 

B. JSON 

C. Chef 

D. XML 

E. Python 

Correct Answer: BD 

 

QUESTION 4

Which two encoding languages are used by the Cisco APIC API? (Choose two.) 
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A. JSON 

B. JAVA 

C. BSON 

D. XML 

E. YAML 

Correct Answer: AD 

 

QUESTION 5

How many Cisco APIC controllers are required to form a Cisco APIC cluster? 

A. three controllers, 3N redundancy 

B. two controllers, N+1 redundancy 

C. three controllers, N+2 redundancy 

D. three controllers, 2N+1 redundancy 

Correct Answer: C 
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